

Description		Qtty	Price		Total
	Benches - Modular Foam Benches W/ Backrest 6' - Left custom covers - fabric / color TBD 6' x 30" D x 18" H	2	\$650.00	Т	\$1,300.00
	Benches - Modular Foam Benches W/ Backrest 6' - Middle custom covers - fabric / color TBD 6' x 30" D x 18" H	4	\$650.00	Т	\$2,600.00
	Benches - Modular Foam Benches W/ Backrest 6' - Right custom covers - fabric / color TBD 6' x 30" D x 18" H	2	\$650.00	Т	\$1,300.00
	Booths - Round Grey Chenille 2pc Set black covers 6⤠© 10"₩3⤠© 2½3⤠© 3"H	2	\$700.00	Т	\$1,400.00
	Coffee Tables - Cartagena - Black Wood placed with 6' modulars 63"W x 24"D x 13"H	4	\$275.00	Т	\$1,100.00
	Coffee Tables - Maui - Smooth Wood - Black placed with 6' modulars 35" Diam x 16"H	2	\$250.00	Т	\$500.00
	Accent Tables - Cartagena - Round Side Table - Black Wood placed with 6' modulars 20"D x 16"H	8	\$180.00	Т	\$1,440.00
	Ottomans - Standard Pod cover TBD, placed with modular pieces 18"RND x 17"H - Cover Color Upon Request	20	\$65.00	Т	\$1,300.00
P	Sofas - Beirut - Curvy Blush Velvet 102"W x 32"D x 26"H	4	\$450.00	Т	\$1,800.00
	Coffee Tables - Bruges - White W/ Black Glass Top 60"W x 26"D x 12"H	4	\$250.00	Т	\$1,000.00
	Ottomans - Beirut - Black Boucle placed with beirut sofas 20"D x 16"H	20	\$65.00	Т	\$1,300.00
	Option 2- Ottomans - Beirut - Blush Velvet 20"D x 16"H	20	\$0.00	Т	\$0.00
8	Option 3- Ottomans - Beirut - Ivory Velvet 20"D x 16"H	20	\$0.00	Т	\$0.00

Description		Qtty	Price		Total
	Shelves - Shelving Unit Cubbie - Small painted black & pink with back panel attached 58"W x 16"L x 58"H - 13" X 13" X 16" FOR EACH CUBE - Custom Color Upon Request	2	\$400.00	Т	\$800.00
	Bars - Cartagena - 16' Round Bar - Black Oak (3 pieces only) 2- pieces placed together for adult bar, 1 used as kids bar 16'Diam x 24"w x 42"H - Inner diameter 12' - 6 pieces in total	1	\$2,200.00	Т	\$2,200.00
	Barback - Tokyo - Straight Basic 6' X 8'h - Metal paint color TBD 6'W x 18"D x 8'H	2	\$350.00	Т	\$700.00
			Total Recept	ion	\$45,590.00
Merch Booth					
	Merch Booth 16'W x 10'H 3 sided with shelves & rods to hang & fold clothes, custom front awning with store name, paint colors TBD & decals estimated, 6'W counter for attendant,	1	\$12,300.00	Т	\$12,300.00
	Barback - Curved Alcoves W/ Shelves - 2 Arches arch with shelves, paint color / decal TBD, rouch price included 22'W x 18"L x 10'H	1	\$0.00	Т	\$0.00
	Barback - Alcove - 1 Arch with rod and oval opening to hang clothes, paint color / decal TBD, rouch price included 8'W x 18"D x 10'H	2	\$0.00	Т	\$0.00
	Entrance Arch 16'L x 10'H 2 columns 24"W x 10'H, 1- horizontal awning 24"H x 12'W, with store name on top	1	\$0.00	Т	\$0.00
	Bars - White Lacquer - Led Light Up paint color TBD, decal tbd 6'L x 29"W x 44 1/2" H	1	\$0.00	Т	\$0.00
	Pedestals - Rectangular 04 24"W x 20"D x 48"H - Color Upon Request	2	\$0.00	Т	\$0.00
in the second se			Total Merch Booth		\$12,300.00
Pullsheet					
			Total Pullsh	eet	\$0.00
Services					
	Install	12	\$650.00		\$7,800.00
	Touchups	4	\$500.00		\$2,000.00
	Strike	10	\$600.00		\$6,000.00
	Truck & Gas Surcharge	5	\$480.00		\$2,400.00
	Flameproof Certification Manager Fees: Diagrams Renderings, meetings, ons ite management.	1	\$350.00 \$3,500.00		\$350.00 \$3,500.00

Please make checks payable to Revelry, Inc.	То
Note: Prior to deliveries and pick-ups all invoices must be pay in full	Total Labor/Se
Please ready the contract and sign it	Wear & T
	Pacl
Notes	

Total Products:	\$69,290.00
otal Labor/Services/Misc:	\$22,050.00
Wear & Tear (5.00%):	\$3,464.50
Packing (2.00%):	\$1,385.80
Taxes :	\$6,582.55
Discounts:	(\$0.00)
Total:	\$102,772.85
Payments:	(\$1,500.00)
Balance:	\$101,272.85